History of Math, Princeton University, Fall 2024, Prof. Kontorovich
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Proposition 1 : To construct an equilateral triangle on a segment
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Question that was omitted and is implicitly answered in 1.22: when does
a pair circles intersect?
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"Triangle inequality": (1.20) the sum of any two sides is greater than the
third side

t Z 4 The Euclidean compass is "collapsing” but we can
v : pretend that it locks in place.
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Given a point and a segment, you can move the segment
to the point.
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Now chase angles across differents pairs of parallel lines to show that
all the angles are right. QED.



Question: Isn't the following a better construction, and doesn't it NOT
rely on drawing parallels (and the parallel postulate)???
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In a right triangle, the sum of the squares on S|des is equal to the
square on the hypotenuse. (Implicitly means "area") q
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